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1.

4.

If the population of a country increases by 20 percent in 10, years, the a.nnual
exponential growth rate of the populatxon is

(a) 2%

(b} more than 2%

‘(c) less thz‘m 2%

{d) None of the above

In regression analysis, a standardized variable

(a) . has a mean of 0 and a standard dev_iatioﬁ of 1
(b} is always normally distributed

{) has a bell-shaped distribution

(d) None of the above

Consider the following null and alternative hypotheses :
Hy:n=016
H:in>0-16

The above setup

{a) indicates a one-tailed test with a rejection area in the right tail
(b) indicates a one-tailed test with a rejection area in the left tail
{c) indicates a two-tailed test with an acceptarice region in the right ta11

{d) indicates a two-tailed test with a rejection area in the right tail

Suppose the penalty imposed for premature withdrawal of a time deposit from any
bank in an economy increases from 1% to 2:5% of the amount of the deposit.
Everything else remaining constant, what will happen to the transactions dcmand for
money in the economy?

{a) Remain uncha.nged
(b) Increase
{c) Decrease

{d} Cannot be determined
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5. Inwhich of the following cases would the purchase of rice be included in our calculation
when we calculate the GDP of India from the expenditure side?

(@)

()
(c)

(d)

A resident Indian purchases rice to make a dosa which he sells to his neighbour,
He then pockets the money received

A resident Indian purchases rice to make a dosa which he sells to his nelghbour
He donates the money received to a charity

A foreign citizen visiting India purchases rice to make a dosa which he sells to
another t'orelgn citizen visiting India

A non-resident Indian visiting Indla purchases rice, goes back to his country of
residence, makes a dosa and then sells it to his neighbour

6. If three corners of a parallelogram are (1, 1), (4, 2) and (1, 3), then the fourth corner is

{a)
(b)
{c)
(d)

{4, 4

4, 0

2, 2}

4, 4) or {4, 0) or (-2, 2}.

Question Nos. 7-10 are to be answered on the basis of the following information :

Consider a cube having {0, 0, 0), (1, 0, 0), (0, 1, 0) and (0, O, 1) as four of its corners.

7. Which of the following is true?

{(a)
{b)
(©)

{d)

The other corners are {1, 1, 0}, (1, 0, 1), (0, 1, 1) and (1, 1, 1)
The other corners are (-1, -1, 0), (-1, 0, -1}, {0, -1, -1) and {-1, -1, -1)

The other corners are (2, L, Hand (1, 1,1)

The other corners of the cube cannot be determined

8. Which of the following is true?

(a)
(b}

{c)
()

(4, 1, 1) is the centre of the given cube

(-é—, é—, -g-)'is the centre of the given cube

The centre of the cubg cannot be determined

None of the above
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9. Which of the following is true?
(a) The volume of the cube is 1
(b) The volume of the cube is 6
{c) The volume of the cube is 8

{d) None of the above

10. Which of the following is true?
(a} The area of the cube is 1
(b) .The area of the cube is 6
(c) The area of the cube is 8

{d} The area of the cube cannot be determined

Question Nos. 11-14 are to be answered on the basis of the following information :

A random variable Y has the following distribution :

Y -1 0 1 2
Py) | 3c 2¢ | 04 | 01

11. The value of the constant Cis

() 010
(t) 015
{c) 020

{d) None of the above

12. The expected value of Y2 is
(a) 090 (b) 080
© 150 ' @ 110

13. Consider the random variable 2xY + r?, where r is a real number. The mear of this
random variable is 0-7. Which of the following must be true? '

(@ r=0-10
() r=0-05"
¢} r?=0.40

{d) None of the above
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14, The variance of the random variable 4 XY is

(@) 404
b} 101
{c) 1616

{d) None of the above

15. Assume that cduntry A is relatively abundant in labour and country B is relatively'

abundant in land. Note that wages are the returns to labour and rents are the retums
to land. According to the factor price equalization theorem, once country A begins
specializing according to comparative advantage and trading with country B

(a) wages and rents should fall in country A
(b) wages and rents should rise in country A
{c) wages should rise and rents should fall in country A

{d) wages should fall and rents should rise in country A

Question Nos. 16-18 are to be answered on the basis of the following information :

The table below shows the domestic demand and supply conditions for computers in a small
country, Norway, in the world computer market :

Price (in $) Demand Supply
1000 3200 g 800
1500 2800 1200
2000 2400 1600
2500 2000 12000
3000 1600 . 2400
3500 ~ 1200 2800

16, In the absence of trade, Norway’s equilibrium price and quantity équal
(@ $ 1500 and 2800 computers |
{b) % 2000 and 1.600 computers
{c) $2500 and 2000 computers
(@) $ 3500 and 2000 computers
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17

18.

19.

21.

With free trade, suppose the rest of the worid can supply computers at a price of
$ 1500. Norway’s imports will now equal —. Compared to what occurred in the

absence of trade, Norway’s consumer surplus will — and producer surplus will —.

(a)
(b)
(c)
(d)

1600 computers, decrease, increase
1600 computers, increase, decrease
1200 computers, decrease, increase

1200 computers, increase, decrease

To reduce imports, suppose the Government of Norway imposes a quota equal to
800 computers. Compared to what occurred in the absence of trade, Norway’s

consumer surplus will — and producer surplus will —,
{a) increase, increase
{b) increase, decrease
{¢) decrease, increase
{d) decrease, decrease

Let fix)={log (x)}/x, where 0 <x <1 Then for all x, such that 0<x <1

{a)

®)

© fx)>0 if0<x<0-5and f'(x)<0,if0-55sx<1

()

Given two numbers, a = (3V7+4 V7)2 and b = 343, which of the following must be true?

()
(b)
(c}
(d)

Let S=1+1/2%2 +1/3%2+1/42 +1/5% +.... Which of the following is true?

(a)
(b)
(c)
(d)

flix) <0

fix)>0

Cannot say anything about the sign of f'{x)

a>b
b»a
a=bJf2

a=>b

S=6
S=8

The sum does not converge to any finite value

None of the above
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Question Nos. 22-26 are to be answered on the basis of the following information :

Consider a closed economy in which aggregate output in short-run equilibrium is equal to
the level of effective demand. There are only two types of expenditure on goods and services—
private consumption expenditure and expenditure by the government (G). Workers earn only
wage income and non-workers earn all remaining income. Non-workers always spend a fixed
amount on consumption. Suppose to produce every rupee of final output, 0-005 labour-day is
required and the wage for a working day is Rs 150.

22. Suppose there is no taxation in the economy. If Sdenoctes private savings and 7 denotes
investment expenditure in the economy, which of the following is a condition for
short-run equilibrium in the economy?

a) S=G
(o) S=1I
) S=0

- (d} None of the above

23. Suppose workers consume their entire income and the only tax revenue comes from
lump sum direct taxes imposed on non-workers. What is the value of the balanced
budget multiplier in this economy?

fa) 1
b 25
f© 4

(d) None of the above

24. Suppose workers consume a fraction 0-8 of their income and the only tax revenue
comes from lump sum direct taxes imposed on non-workers. What is the value of the
balanced budget multiplier?

@ 1
(b) 25
e}y 4

(d} None of the above

25. Suppose workers consume their entire income and the lump sum direct taxes are
imposed on workers rather than on non-workers. What is the value of the balanced
budget multiplier?

a) 1
by 25
(c} 4

{d) None of the above
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26.

27.

28,

29.

Suppose workers consume a fraction 0-8 of their disposable income and the lump sum
direct taxes are imposed on workers rather than on non-workers. What is the value of
the balanced budget multiplier?

faj 05 b} 1

@ 2 (dy 25

Ay, Ay and A, are independent events. The probability of event A; is p;; i=12 3.
The probability of the event U?=1 A; is equal to

@ P tpyt+p;

(b} 1-0-p)x{1-py)x(1- pjs)

{©) pyxpyXps3

{d) None of the above

A student must choose one of the subjects—Physics, Chemistry or Mathematics—
for study. She is equally likely to choose Physics or Chemistry and twice as:likely
to choose Mathematics. The probability that the student chooses Mathematics is

@ 1
b i
@ 1

{d) None of the above

Linda is 31, single, outspoken, and very bright. She studied Philosophy in college.
As a student, she was deeply concerned with discrimination and other social issues,
and participated in anti-nuclear demonstrations. Consider the following two situations :

(i Linda is a bank teller.

([i) Linda is a bank teller and active in the feminist movement.
Which of the following claims must be correct?

{a) Situation (i) is strictly more likely then situation (i)

(b} Situation (i) is strictly more likely than situation (ii)

(c) Situation (i} is at least as likely as situation ({ii)

6/
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30.

31.

x and y are real numbers such that x < y. Which of the following claims ‘must be
correct?

@) x2 <y?
b) g% <x?
@) x<x?

(d) None of the above

0.-036x0-02 is equal to

(@ 0-0072
{b) 72x107°
{c) 0000072

(d}. None of the above

Question Nos. 32-36 are to be answered on the basis of the following information :

The names of 7 students when ranked in ascending order of their weights are A, B, C, D, E,
F and G. A's weight is 45 kg and G's weight is 75 kg.

32.

33.

34,

If no pair of students has the same weight, then the median weight of the group is
{a} always equal to C’s weight

(b} the average of C’'s weight and E’s weight

(c) C’s weight or E's weight

(d} None of the above

If three students among B, C, D, E and F have the same weight and the remaining two
have different weights, then the median weight of the group of 7 students is

(a) always equal to C's weight

(b) the average of C’s weight and E’s weight
(c) C’s weight or E’s weight

{d) None of the above

Suppose the name of F is deleted from the list. Then, if the difference u} weights
between any two consecutively ranked students on the list is a constant positive
number, the median weight is equal to

(a) B's weight

{b) the average of B's weight and E’s weight
{c} B's weight or E’'s weight

{d) None of the above
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35.

36.

37.

38.

Suppose the name of F is deleted from the list and the difference in weights between
any two consecutively ranked students on the list is a constant positive number.
Calculate the arithmetic mean of the absolute deviations of the weights of the
six students from the arithmetic mean of their weights. How many students in the list
have a weight which differs from the median weight by more than this amount?

(@) 1
b 2
© 3
d) 4

Suppose the name of F is deleted from the list and the difference in weighté between
any two consecutively ranked students on the list is a constant positive number,
The ratio between the standard deviation of the weights of the six students and the
mean absclute deviation of their weights is

(a) equal to unity

{b) less than unity

(c) greater than unity

(d) indeterminate

The probability of drawing two aces from a deck of 52 cards is

(a) pgreater with replacement than without replacement
{b) the same with replacement as without replacement
(c). less with replacement than without replacemént

(d)” None of the above

The probability of drawing two spades from a deck of 52 cards withmjlt replacement is
(a) greater than 1/16

(=3} ;equal to 1/16

(c) less than 1/16

{d) None of the above

19/29



99

41.

X is a positive integer satisfying the following conditions :
@ 50sX<79

({ii) If X is a multiple of 3, then 50< X £ 59

(i} H X is not a multiple of 4, then 605 X <69 -

(ivy If X is not a multiple of 6, then 70 X £ 79

Therefore, we can infer that
{a} X=54

(b) X=65

{© X=76 |

(d) None of the above

Three trucks A, B and C are used for transporting wheat and rice, The follciwing
information is given :

{i} If A carried wheat, then B carried rice,
(i) If A carried rice, then C carried wheat,

{iii) If B carried wheat, then C carried rice.

Which truck always carried the same thing?

{a} A
(b) B
© C

(d) None of the above

Only one of the following three statements regarding the number of balls in an urn is
true : ' )

(i There are at least 100 balls in the urn.
{iii There are less than 100 balls in the urn.

(iii} There is at least one ball in the urn,

How many balls are there in the urn?

a) 1

(b) 100
" (@ 101

d o
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Question Nos. 42 and 43 are to be answered on the basis of the following information :
(i) Four students, named P, Q, R and S all opted for different subjects—Economics,
History, Physice and Chemistry.
{ify Q opted neither for Physics nor for History.
.(iii) S opted neither for Physics nor for Chemistry,
{ivy If Q did not opt for Chemistry, then R did not opt for Physics.
(v) P opted neither for Physics nor for History.

42, Q opted for

(a) Physics
{(b) Chemistry
(c) Economics
(d) History

43. Economics was opted by

(&) P B
(© R @ s

Question Nos. 44 and 48 are to be answered on the basis of the following information :
Three sportspersons A, B a’nd.F each made two statements given below : '
A’s statements : | ‘ '
(i)' I do not belong to the hockey team.
(iii Mr. D is on the soccer team,
Bs statements :
(i I do not belong to the soccer team.
(i) Mr. Dis on the cricket team.
C’s statements :
' () I do not belong to the cricket team.
(i) Mr. D is on the hockey team.,
Both statements made by the person who belongs to the hockey team are true; both statements

made by the person who belongs to the soccer team are false; and the person who belongs to the
cricket team made one true statement and one false statement.

44. Mr. Dis on the
() cricket team
(b) hockey team
(¢} soccer team
. {d) None of the above
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45.

46. .

47.

49,

(a)
(b)
c)
(d})

The person belonging to the cricket team is

A .
B
c

None of the above

Compared to a single-price monopoly, a perfectly competitive industry produces

{9

(a} less output and has a lower price
(b} less output and has a higher price
more output and has a lower price
{d) Nomne of the above
A 95% confidence interval for a bopulation mean will be — a 99% bonﬁdence interval
for the same population mean. {Both calculations are based on the same set of data.)
{a) longer than
{b) shorter than
{¢) the same length as
(d) None of the above

The equilibrium rent for four-bedroom apartments is Rs 1,500 per month. If the city
government imposes a price ceiling of Rs 1,600 per month on rents, which of the
following will happen?

(&)

()

(c)

@)

There will be excess demand for four-bedroom apartments
There will be excess supply of four-bedroom apartments

The government will earn Rs 100 per month from each four-bedroom apartment
that is rented ' '

None of the above

Continue the following number series with the group of nurﬁbers below which best
continues the series : _

(@)
{b)
(c)
(d)

110395877896
115
10 5
10 4
11 6
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50.

51‘

If two typists can type 2 pagcs in 2 minutes, how many typists will it take to type
18 pages in 6 minutes?

@ 4 (b} 6

.(c) 12 @) 36

If you count from 1 to 100, how many 78 will you pass on the way?
@ 11 b} 19

() 20 d 21

Four years ago, Arka was twice as old as Saina. Four years on from now, Saina will be
of Arka’s age. How old is Arka now? .

{a} 10 years (b) 12 years

(c) 8 years (d) 16 years

Which number comes next in the following series of numbers?
2 35 71113

(@) 14 b 15

{c) 16 d 17

Two men, starting at the same point, walk in opposite directions for 4 meters, turn left
and walk another 3 meters. What is the distance between them?

(a) 2 meters (b) 6 meters

{c) 10 meters {d} 14 meters

In a lake, there is a patch of lily pads. Everyday, the patch doubles in size. If it takes
48 days for the patch to cover the entire lake, how long would it take for the pal:ch to
cover half the lake?

(a) 24 days
(b) 12 days
(c) Cannot be determined from the statement of the problem

(d) None of the above
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Question Nos. 56-58 are to be answered on the basig -of the following information :

In a two-good world, there is an individual with income m = 3 and utility function is given by
ulx, 4= x0'5y0'5. The price of good x is 1 per unit and the price of good y is also 1 per unit.

56. If the individual can consume any non-negative amount of goods x and y, then the
optimum consumption bundle is
fa x=1 y=l1
() x=1.5 y=1.5
@ x=2.5 y=0-5
(d} x=0 y=3

'§7. If the individual can consume either zero unit of good x or at most one unit of x and
any non-negative amount of good y, then the optimum consumption bundle is

a x=1 y=2
b) x=1 y=3
{c) x=0y=3
d} x=3, y=0 _

58. If both goods x and ycan be consumed only in integer amounts (i.e., zero unit, one unit,
two umnits, ete.), then the optimum consumption bundle is

(a x=3 y=1
b} x=1 y=3
{cj x=3 y=0
(d) either x=2, y=1lorx=1 y=2

Question Nos. 59-61 are to be answered on the basis of the following information :

A firm produces a certain good and has two plants. To produce y units of the good in plant 1,
the total cost for the firm is ¢ {p) = y; x ;. To produce Hz units of the good in plant 2, the total
cost for the firm is c, (y2) Y XUy
59. Suppose the firm produces output y at minimum cost. Which of the following is true?
(a} All of the output is produced in one of the two plants
(b) Output y/2 is produced in plant 1 and output y/2 is produced in plant 2
{c} All divisions of output y between: the two plants result in the same cost for the firm
(d) None of the above
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60.

61.

62.

63.

Each unit of good produced by the firm is sold at price equal to 3. The profit-maximizing
output of the firm is

@ 3
k) O
) 6

{d} The profit maximization problem does not have a solution

Each unit of good produced by the firm is sold at price equal to 3, The profit level of
the profit-maximizing firm is

@) 9
(b} ©
{c) The profit maximization problem does not have a solution

(d) None of the above

Which of the following represents the same preferences as
Ulx;, xp) =min{x;, x,}+max {x;, X5}
where x,, xy, 207

(&) x + Xq
b)) x; xx,
) max {x;, x,}

(d} None of the above

Let f be a twice differentiable real-valued function defined on the set of all real numbers
greater than or equal to 0 and less than or equal to 1. Suppose [ attains the maximum
value in its domain at x*. Which of the following must be true?

@ fix")=0
) fx*)<0
(© x'=00rlx'=10rf’(x").=0

(d) None of the above
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Question Nos. 64-66 are to be answered on the basis of the following information :

A relation f from set X to set Z is a function if and only if for every element x in X there is
a unique element z in Z such that x and z are asscciated through f. X is called the domain of
f and Z the codomain of f. The range of f is the set of all elements in the codomain which
are associated with at least one element in the domain.

f is a surjective function if and only if every element in the codomain has an association in the
domain. f is an injective function if and only if no two distinct elements in the domain are
associated with the same element in the codomain.

Consider the following statements :

() There exists an element x in the domain of f such that no element in the codomain
is associated with it.

(i) There exists an element x in the domain of f and two distinct elements z and w in the
codomain of f such that both z and w are associated with x.
64. Which of the following is true?
(a)l To prove that f is not a function, it is necessary to demonstrate (i)
{b) To prove that f is not a function, it is necessary to demonstrate (ii)
(¢} To prove that f is not a function, it is necessary to demonstrate (i) or (ii)

(d) None of the above

65. Which of the following is true?

(a) Demonstration of (i) is sufficient to prove that f is not a function but
demonstration of (ii) is not sufficient to prove that f is not a function

{b) Demonstration of (ii) is sufficient to prove that f is not a function but
demonstration of (i) is not sufficient to prove that f is not a function

{c) Demonstration of (i} and (ii) is sufficient to prove that f is not a function

{d) None of the above

66, :Which of the foliowing is true?
(a) The range of a surjective function is always equal to its codomain
(b} The range of a surjective function is never equal to its codomain
(c} | The range of a surjective function is equal to its codomain only if it is injectivé also

(d} One of the conditions under which the range of a surjective function is equal to its
codomain is that the function is injective also
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Question Nos. 67-69 are to be answered on the basis of the following information :

A firm uses labour to produce a certain good. If x units of labour are used by the firm, the
‘output of the good equals f(x) = 20x — x2. Each unit of the good sells at a price of 1, Let w

denote the price of each unit of labour, We must have x 2 Q. Assume that the firm hires labour
to maximize profits. :

67. What is the minimum w for which it is optimal for the firm to hire zero unit of labour?

a) O
{b) 10
) 15

(d) None of the above

68. For what value of wis it optimal for the firm to hire 10 units of labour?

(a} @
(b} 20
¢ 10

{d) ‘None of the above

69. Assume that w= 16 Then the profits of the firm equal

a) 2
by 36
€ 4

(d} None of the above

Question Nos. 70-75 are to be answered on the basis of the following information :

Ms. Chi can repay a loan taken from Mr, Tao either by giving him u kg of gold today or by giving
him v kg of gold after two years. The price of gold today is Rs x per gram, Ms. Chi is certain
that after two years the price of gold will be Rs y per gram. If Ms. Chi chooses to repay the loan
after two years, she will open a fixed deposit account at her bank today with a maturity period
of two years and use the proceeds at maturity to purchase the necessary gold. Interest on such
a deposit is compounded annually and is paid on the date of maturity. The rate of interest for
a two-year fixed deposit is r percent per annum. Every year the interest paid into Ms. Chi’s fixed
deposit account will be taxed at the rate of ¢ percent. Ms, Chi will decide when to repay the loan
on the basis of which option will cost her the least amount of money today.

70. Hu=v=0-16, x =2000, y=2500, r=12.5, ¢t =0, when will Ms. Chi repay the loan?
{a) Today '
(b} After two years
(c) She will be indifferent between {a] and (b)
(d) More information is necessary to provide the answer
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fu=v, x=2000 y= 2500, r=12, t=0, when will Ms. Chi repay the loan?
(a) Today ' |

(b) After two years

{c) She will be indifferent between (a) and (b)

(d) More information is necessary to provide the answer

If u=v, x =2000, y=2500, r=12-5, ¢ = 0-04, when will Ms, Chi repay the loan?
(a) Today

(b) After two years

{c) She will be indifferent between (a) aqd' {b)

(d) More information is neéessary to provide the answer

fu=0:16, v=0-165, x =2000, y=2500, r=12-5, ¢t = 0, when will Ms, Chi repay. the
loan?

(a) Today
{b) After two years
{c} She will be indiﬁ'erent between (a) and (b}

(d) More information is necessary to provide the answer

Ifu=0-16,v = 0-165, x = 2000, y = 2500, r = 12, t = 0, when will Ms. Chirepay the loan?
(a) Today

(b) After two years

() She will be indifferent between {a) and (b)

(d} More information is necessary to provide the answer

Ifu=0-16 v=0-165 x =2000, y=2500, r = 12, t = 0- 04, when will Ms. Chi repay the
loan?

(a) Today
(b} After two years
(c) She will be indifferent between (a) and (b) |

{d) More information is necessary to provide the answer

19/30



Question Nos. 76-79 are to be answered on the basis of the following information :

Consider the following tabulated data for an economy and answer the questions that follow :

Year GDP at current prices GDP at constant prices
1975 21 17
1980 26 21
1985 32 26
1990 39 32
1995 47 : -39

76. In which period did the economy have the highest rate of growth of real GDP?

(@) 1975-80
(b) 1980-85
() 1985-90
(@) 1990-95

77. In which period did the economy have the lowest rate of growth of real GDP’IPI

- Lo
Pt

8) 1975-80 .

(b) 1980-85
(c) 1985-90 | ST
(@ 1990-95 | o

G

78. If the GDP deflator is taken as the price index for the economy, in how many of

the periods 1975-80, 1980-85, 1985-90 and 1990-95 did the ‘econotly dxperience
deflation? o
(@) 1 (b) 2

n 7 E®
) 3 _ d) 4

79. If the GDP deflator is taken as the price index for the economy, in how' many of
the periods 1975-80, 1980-85, 1985-90 and 1990-95 did the economy experience

inflation?
(@) 1 (b} 2
(e} 3 (d)y 4
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80. In a two-good world, a consumer’s preferences over commodities 1 and 2 can
be represented by the utility function U{x,, x,) = v(x;) +x,, where x,, x, 20.
The consumer’s income is known to be very high. Then, the demand for goed 1 displays
which of the following?

(8} The substitution effect is negative and the income effect is positive
(b) The substitution effect is positive and the income effect is negative
() The substitution effect is zerc and the income effect is positive

(d) The substitution effect is negative and there are no income effects

81. In a two-good world, suppose that the price of one good decreases. Which of the
following holds true?

(a) The Slutsky equation says that the total change in demand is exactly equal to the
sum of the substitution effect and the income effect

(b) The Slutsky equation says that the total change in demand is less than the sum
of the substitution effect and the income effect

(c) The Slutsky equation says that the total change in demand is more than the sum
of the substitution effect and the income effect . :

{d) The Slutsky equation does not deal with income effects at gll .., ..

Question Nos. 82-87 are to be answered on the basis of the follovgqg inforr pa jon :

[919 MlgH W l'
Suppose a consumer’s preferences over commodities 1 and 2 can be representcd by the utility
function U(x;, x,}=min {x,, x,}, where xl, x, 20. The prices of the 356 ‘cdrhmodifties are

1 and 2 respectively and the consumer’s income is 150. a8-6Ae
82. The utility function of the consumer is e a8e]
(a} continuous at all points in the domain but not differentiableoap el poigts in the
domain '
{b) not continuous at all points in the domain
CocRt L ot b 0D adr M

{c) differentiable at all points in the domain _ &0l zborag or
(d) None of the above Crotniing

N
83, Which of the following is true?

(a) At the optimum, the consumer should consume 150 units of oomfinod?fy 1 and
none of commodity 2 ’

{b) At the optimum, the consumer should consun,‘;c 75. uw.ﬁq L?W 2 and

none of commodity 1 L rbedtsg mh

(c} At the optimum, the consumer should consume 50 units of conumedity 1 and

50 units of commodity 2 "
J

(d) At the optimum, the consumer should spend equal amounts' on the two
commodities

2//39



84,

85.

86.

87.

If the income of the consumer increases by 1 unit, then

(a) the optimum consumption of 'commodity 1 increases by + and the optimum

W

consumption of commodity 2 increases by -13

{b) the optimum consumption of commodity 1 increases by and the optimum

=

consumption of commodity 2 increases by %

{c) the optimum consumption of commodity 1 increases by i and the optimum

[N

consumption of commeodity 2 increases by é-
(d) None of the above
Suppose the price of commodity 2 reduces to 1 while the price of the other commodity

and the consumer’s income remain unchanged. The substitution effect according to
Slutsky of this price change on the optimal amount of commodity 1 is

fa) -1 R P < 1
(b) 25 . .f.‘;IJ'. '
{C) -25 | [ .‘.f-‘lli
@ o s fe
I s H
, ano¥l (b}

Suppose the price of commeodity 2 reduces to 1 while the pnce of the other commodity
and the consumer’s income remain unchanged. The income effect a ccorg%tﬁ Slus&y

of this price change on the optimal amount of commodi ity lLJ‘i I‘n ’__g frditps
fa) O 0 (s
4-
{b) 25 o
+ )
c) -25 stE oo aneyT o ()
d) -1
@ ol e 1pd smuezA @

oETLT B el dasd
The equation of the income expansion path for the cofmumef"lé 200 8B 2o

. carotts el o losdw 1O

(a) xl +2x2 = 150 . U ;_'!'-': IO bﬂ.‘:.&':‘lé
(b) X, =2x2 ' b iB}
g

© x=x, )
(d) Nomne of the abave = ceit g,

22/87



Question Nos. 88-92 are to be answered on the basis of the following information :

In a village, there is a field. If n cows simultaneously graze on this field, the value of milk
produced by each cow is v(n} :

o) | v | vl | vl | vig vl | (@
22 18 15 12 10 9 8

Assume that the market price of a cow is Rs 11,

89,

90.

a1,

Suppose all villagers are given free access to the field. This means that any villager
can buy as many cows as she wants, graze her cows on the field, and sell the milk
obtained from her cows. In equilibrium, the total number of cows bought by villagers
and grazed on the field equals

(a) 4

O o
(C) 7 e I" ;1; (t!‘tr:i.l;
{d) None of the above C e wletiE

Define the aggregate income of the village as follows : - (8l

Total value of milk produced by cows grazed on the field - Total cost of bgglng&ewws.
How many cows must graze the field for the village’s aggregate income tggl::e m(e;:)dmind?
@ 1

b) 2 0 (b

) 3

d one of the above
d) N v . Uhomimas to aoig sl seeqque OB

T3 AMmooni e TNIURnod
If villagers are given free access to the field, ﬁpmnm&?%, in
equilibrium, equals ' i

(@ © 0 @
- «
¢

(d) None of the above es- (v

Fd I" (b
Assume that the villagers implement the following rule : )

Each time a person buys a cow, she must pay Rs ¢ to the village council. Thus, & person
incurs a cost of Rs 11 + t for each cow thad sbelW¥hi odt 1o noitsups odT T8
For which of the following values of ¢ will the equilibrium number of cows bought and
grazed on the field equal the number that maximizes the uﬂﬂﬁ’w inkbme?

@) 11 *8= % (d)
by 6 : _
© 0 g*=x )
(d) None of the above svods st 1o ariofl (b}
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92.

93‘

94.

95.

Suppose t is set to 10, The revenue earned by thé village council equals -
(a} Rs 10 ' (b) Rs 20

(c) Rs 30 (d RsO
The function f(x) approaches infinity as x approaches infinity and the limit of the

derivative of the function f(x}is O as x approaches infinity. What is the limit of f{x) /x
as x approaches infinity?

(a) Infinity
b0 . : I arisd -
cg 1 o 00 4niNoTy

' ©En AU meteve
(d) Cannot be detcrﬂlined Nt ';'ff'iiifql.lq {Tﬂtxﬁ'ia-ﬁ

nt bas viilidsimey

o0 U aatew Yo yiilidsllevs
On whlch of the following intervals ‘is the function x / (JC - I}Wﬁadnon ot

e et lsinfysreg wdr o

(& (-1 o) . oot treatyeeT bﬁB'_SQiﬁyﬁp‘a_ —
(B) (=co 1) sl wesd 2eotUoRT la'minn i - .
© =11 _ ' o *lash sireei \(mmnq srﬂ‘ “

(d} None of the above clfworg nonsluqoq (8)

agnsd? mmﬁc (d)

What is the value of the denvahve of the function [Qx+”/g’,}m W‘ ﬂ% o

(a) -4 : "

®) -2 3 UBTIRIRG ol i bauau ﬁ !l'
(sveq suasrsal (n!

© 2 o 0! sorarshib Oﬂ :uihm m

{d) None of the above -n.; W vaw ad} mi sa!blurl iﬁ {93

Suppose f(x) = q x +a; +(az /x), where q,, ;a

assumed to take only positive values.

) f [x) has a rmmmum value but no maximum Tl
s :nﬂteaoo arwl a‘

(b) f(x) has a maximum value but no mm st h _:3 '
{¢) f(x) Has neither a minimum value nor a mm'k‘ |

aQ f (x} has both a minimum value and a ma:dmum m

2y/37?




97. Ilfz=eftxy , where f (x, Y=x%+ y what is the elasticity of z with respect to x at

(6 4 =(L2
(@) 1
(b) 2
(c} 4

(d) None of the above -

Question Nos. 98-100 are to be answered on the basis of the following paragraph from the
Economic Survey, 2010 : '

India is a country which will be severely impacted by climate change. This puts gdditional
hurdles in its developmental path in addition to the challenges of poverty eradication -and
growing population. The projected impacts of climate change cut across various sqcm mturnl
system such as coastal areas, water resources, forests, agriculture and health. With a
agrarian population, India is vulnerable to changes in weather parariétdfl Wathéd) rainfall
variability and melting of glaciers will impact replenishment of rivers, thereby lﬂecﬂng
availability of water in river basins and watersheds. In India, most of the rivers: SOty
the northern regions are dependent on snow and glacial melt; thug! ciihsee
the perennial nature of these rivers, This has huge 1mpl1cat10ns for agriculture . alled
activities and resultant livelihoods. This is a serious concern for an wonm '&n M-&o -

its natural resources base along its developmental path. T ,,__) Ay R
98. The primary issue dealt with in this paragraph is B¢ *["1 (al
(@) population growth : mods odf Yo srmH {b)

(b) climate change

1-.

<iab el Yo aufav ar!a (3 m -

e
T

(c) agricultum
(d) glaciers

99. It is argued in the paragraph that climate change will by M
(a) increase poverty
{b) make no difference to poverty in India ‘ B
(cj put hurdles in the way of poverty erad:cation svodia Stl!
{d) reduce inequalities in society SRRI:

arariw 13. D+&. - I\ P
100. It is argued in the paragraph that climgte, L ER
{a) large agrarian population

1 trd suiBy mummxmsmim e
(b) India’s long coastline * (-'?

(c} lots of glaciers in the mountaing”® '/7 S”I‘Bv mumm '“
(d} None of the above - aviay mummnin 8 m

p o eprigy mummi:_n_.s M E
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Suppose two fair, six-sided, dice are rolled. The probability of obtaining a value from the
first dice that is at least two greater than the value from the second dice is

@ %
b 2
©
@ &

If the radius of a circle is increased by 20%, then the area is increased by
(a) 44%

(b} 120%

{c} 144%

@ 40%

Let x, y and z be distinct integers. x and y are odd and positive, and z is even and
positive, Which one of the following statements cannot be true?

(@) (x-22yis even
(b) (x4z)y2 is odd
() (x-2yis odd

@ (x-Y?z is even

A line that'is 13 units long has (4, 1) as one of the endpomta Which of the following
could be the other endpoint? :

(8} 1,13)

o 914

© (3,7

@ (5, 12)

@S0 J



5.

If p and g are the roots of the equation x2 - bx +c=0, then what is the equation if

the roots are (pg+ p+q} and (pg- p-qJ?
@ x2-2ex+{c?-b?%)=0
(b} x2-2bx+(c? +b%)=0
(@) bex?-2(b+dx+c? =0
(@ x2?+2bx-{c? -b?)=0

The domain of the function fix}= T is
la)_ (=7, =}
(b}  [~7, <}
1

d) (=== =7,

Suppose we know that |a|< 3. Which of the following conditions is enough to imply

that |b|< 57

@ Ja+b|<8
(h) 2<la-bj<8
() ja~-b|c2

(d) 3<la-b|<5

A population consists of the following seven numbm :
2003; 1999; 2001; 19%7; 2000 2005 1995

The variance of the population is
(@ 116

(b) 10

(¢} 2010

(d) None of the above

Suppose a person’s utility function is given by u(x, y).
substitutes, then the indiffererce curves are

(a) straight lines

(b) L-shaped

{c¢) U-shaped

{d) None of the above

L2z

BTN

<4 slést gniwoliol odT .1moy
Ly ho~vibotg sty 1o 1sdoun

{b}
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10. I fix)= 1’, is integrated over the. iﬁt’enral 1, 2], then one gets

(a)
(b)
{c)

(d)

0
jog 2

'y
2

1

11. Consider an economy wherein equilibrium level of aggregate income (Y) is the sum of
aggregate investment expenditure (f) and aggregate consumption expenditure (C).
For values of ¥ £ 1500, C=200+0.-6Y and any amount of aggregate income in excess
of 1500 currency units is entirely saved in the economy. If the full employment level of

is
(a)
(b)
()
(d)

Y = 1750, the minimum value of [ necessary to ensure full employment in the economy

500
550
600
None of the above

Question Nos. 12-18 are to be answered on the basis of the following information :

Consider an economy in which only three goods X, ¥ and Z are produced. X and Y are
consumption goods and the output of Z in a year is used up in production of X and Y in that
year: The following table gives the unit prices (py, py and p, rupees respectively) and the
number of units produced (gy, gy and g, respectively} of each of the goods for three years I, Il

andllI:_'

Year | py t'ax | Py | @ | Pz | 95
I 1 |2 | 2 5 | 2

I 15| 3 | 2 [ 6 [1s| 4
m |15 6| 3] 6| 2]s

13, 7'What i the GDP (in .ru.pe'es) at current pﬁc_:gs in year II?

(@)
(b)
{c)
(d)

10-5
165
v 225
285

) mzjﬁo |




13.. I yearlis the base year, what is the GDP (in rupecs) at constant prices in year 1II?

(a) 13
{b} 14
{c) | 17
{d} 18

i4. If year I is the basec year, what is thcl value of fhc GDP deflator in year III?
(a) 100 ‘
(b) 13077 {approx.}
(c} 141-67 {approx,)
(d) 150

15. What is the rate of growth of real GDP (base year |} in year III?

{a) 10% ' _ I -4 1
{b} 13-67% (approx.) o BETh Y
{c} 18:18% (approx) RIS}
d} 20% a0 {d)
22 CE ()
el (b)

Questlon Nos. 16-22 are to be answered on the basis of the following information
Let Y : aggregate real output per year, P : the price level, C ; mangy, yawe-of m-

consumption expenditure per year, I : money value of awegate investment  per -
year, L : aggregate employment (in labour hours per yeat}, £¥7 otad tatRAF 1 hhmr
hours per year) and w : hourly money wage rate. Let W denote the money valer w
wage income per year and R the money value of aggregate non-wage income . Consider
an economy in which labour is homogeneous, the aggregate produ’&ﬁ ¥/Lis

a constant a and the price level (when output is below its full emploprsenti W08 is factor m

times the wage cost per unit of aggregate output. The price at fuil e:;ﬁlg%&?m gremter . e
=0+1 . i .

than or equal to that at below full employment. In equilibrium,

-r rJLHWS 0+0001=0% .IR
16._ If I=4000, C= 1000+0 aW+0.6R, w=10 _m

Lo r?’ 'aer! J ei tadw | ol
employment level of output in the coonomy? )
a) 125
@) seastoni 0L (d)
(b} 625 szgstoni o%0C  (2)
{c} 24000 '

sessont R0 (b}

L3ofse

(d) None of the above

6, L* = 2000, nau_-w' \




17.

18.

19.

e 1N

[RPISIRE

Hort =)

|

If C=1000+0-8W+0-6R, w=10, m=4, a=16, L'-zooo and output is below its

full employment level, what is the increase in nommal income per unit increase in
investment expenditure in the economy?

(@) 2
{b) 4
c} 8
d) 16

If 1=4000,C=1000+0-8 W+0-6R, w=10,m =—‘§, a =16, L* = 2000, what is the price
level in the economy?

(a) 0O-83 (approx.)

(b) 0-93 (approx.)
(¢} 107 (approx.)
(d) 1-16 (approx.}

If I=4000, C=1000+0-8W+0.6R, w=10, mu-;-, d= 16, L* =2000, what is the
fx_'actibn of total labour supply which remains unemployed in the economy?
{a) 5%

(b) 10%
€ 12:5%
{d) - 25%

*--‘Ifc 1000+0-8 W+0-6R w=10, m = $, a= 16, L* =2000, but [ increases from 4000
to 5000 what is the resulting change in the price level in the economy?

wvifal 0% -

" '_;.,a_:\p'__ g%,increase.__

?-:..-(c) - 30% increase

S () * 0% increaise

lfC 1000+0-8 W+0-6R, w= 10, m = $, a= 16, L* =2000, but / increases from 4000
to 7000 what is the reauli:lng change in the price level in the economy?

(a) 0%

(b) 10% increase

{c) 20% increase _

(d) 50% increase

Y.



22. If C=12004+0-8W+0.6R, w=10, m=-3—, a=16, L* =2000, but | increases from

4000 to 7000, what is the change in the share of non-wage income in the total income
of the economy?

{a} No change

(b) Increases by 1
{c) Increases by %

(d) Increases by -é-

23. Suppose in a closed economy with no government expenditure and' taxation the
investment function is given by I =2000+0-1Y - 8000r and the saving fGfiction is
given by $=1000+0-2Y +20007 (Y denotes aggregate income and 7 the nominal rate
of interest). The economy is subject to a liquidity trap at r = 0- 01. What is #he mihmum
equilibrium value of ¥ possible in this economy?

(8) 7800 T |

(b) 9000 : T Rl )

(¢ 11000 R T P SR 1) )

(d) None of the above Goznnn b czoqqu@ VR
e gprodal ER (15115 -

' R al of easlg sH
Questions Nos. 24-27 are to be answered on the basis of MWM

T X v 1 2&
Suppose there is a consumer whose life is dwmblc mto res pem# ﬁg\% ]
consecutively—youth, middle age and post-retirement age. The length

and the consumer earns no labour income on post-retirement. In his youth th&i‘ﬁuusﬁ' edns_ -
labour income at the rate of Rs 2,500 per month. In his middle age the consygpec’s « are .

uncertain—there is a 25% probability that he will earn at the rate of Rs 5,000 per montfy,

alternatively, he will earn at the rate of Rs 10,000 per month. The consumer p&"ﬁ) Wi what
his rate of earnings in middle age will be at the end of his youth, Assymae thaf ype Fumer e
alwa;

expects to pay no taxes, the nominal rate of return on saving and the rate of interest s
zero and there is no inflation expected. throu_ghqut his. life.

yi Lsss910b adood gaitesnigay

24, What is the expected value of the oommmr’a mj(ﬂi ﬁw age?
1o et N R el isdw SO0 i

{»m 20 _ asa (d)
€ 30 o | . 80 o

(d) None of the above ' : I ® '

Looasige adt .qodediood 8 nl  JGR




25.

26.

27,

What is the present discounted value of the consumer's expected lifetime labour income
(Rs in lakhs)?

fa) 24
(b) 26
{¢) 27
(d) 36

Suppose the consumer’s attitude towards risk is as follows :

He prefers an alternative which promises him an amount of Rs X with probability p and
an amount of Rs Y(X > Y') with probability 1- p to an alternative which promises him
an amount of Rs Z for sure if and only if Z <Y + 2p /3)(X ~Y). An insurance company
approaches the consumer in his youth and offers to pay Rs 7,615 per month to the
consumer in his middle age in exchange for his flow of i income during that period. Will
the consumer accept the offer?

(a) Yes
(b) No .
{c} The consumer will be indifferent between accepting and declining the offer

(d) The consumer’s acceptance is'a random event

Suppose the consumer can borrow any amount in a year but must repay the loan out of

#uture labour income. The consumer wishes to end his life with no assets or liabilities.

He plans to have the same constant flow of consumption in the last two periods of his

life and wishes to minimize the difference between the expected rate of consumption in
~ these two periods and a constant rate of consumption during his youth. What should be’

.h,s savmgs per morith (in Rs) during his youth?
. @) -750.

"“7(d)  None of the above .

. -1,250
49 - 250.

In a bookshop, the sales of scientific books increased by 40% while the sales of
engineering books decreased by 50% from 2001 to 2002. If Ris the ratio of the number

- of acientific. books tg9:the number of engineering books in 2001 and r the same ratio

in 2002, what is k if it is given by k=r /R?

(a) 28
(b) 125
0 02

@ 1




a31.

: Bread and apple are substitute goods. A audden nse in the s
: bru.d will result in

-{b) fall in_. the price of bread,

'_mnelandnssmpecﬁvely
_equililn’iumax :

'(al

() .

Suppoaetherateofproﬁtlsm% pmﬁtmoomeietaxedattherateofao%andtherate
of inflation is §%. The real post-tax profit rate is

@ 9% |
) 105%
© -15% |
() Ncnc of the -above

{a) fall in the prlee of bread;

{¢) fall in the price of bread;
(d) None of the above

(8)  x =150; x5 = 50
® x 1 =50; xg =150
) x=0;xyn 1'00‘
(d) x,=300;x,=0"

(b}




income, excess demand pressure tend to appear in the agricultural product market. Whether
excess demand or excess supply pressures exist in the industrial market depends on the
balance between investment and saving; but, in either case, if agricultural prices are more
flexible than industrial prices, then the required improvement in the terms of exchange of
agriculture tends to be brought about by an absolute rise in agricultural prices, rather than by
a fall in industrial prices. This is not just an immediate or short-run effect, for the rise in
agricultural prices tends to generate consequential pressures on costs of production in
industry, partly through a direct effect on raw material costs in industry, and partly, perhaps,

through an induced effect on industrial money wages. Industrial prices may therefore be
prevented from falling, even in a market where there tends to be excess supply; and indeed,

'if the cost pressures are substantial enough, they may even. begin to rise. In this way, the
improvement in agriculture’s terms of exchange produces a rise in the general price level. Such
a development is more hkely to take place as the result of a ‘spontaneocus slowirig down in the
rate at which agrlcultural output is growing, relatively to other outputs; but it may also occur
- if the improvement in, agriculture’s terms of exchange is being produced by an acceleration in
" the rate of growth of industry. For opposite reasons, an acceleration in the rate of growth of

o | agriculmral output can produoe a fali in the general prioe level.”

.J-

33 . &ooording to the au?hor, a.grlculmral pricea largely determine the behaviour of the
S Sﬂ*ﬂ‘ﬂl price level, because |

(8 qsrlcultural growth tenda to’ hg behind industrial growth

(b} . .agrlcult\ual prices. reapond to changcs in demand-supply balances faster than
o industnal prio;s

(c) an’ approprhte mlationthip e:ﬂsts hetween agmmlmre and industry
- emeas de,unnd pmaum nlmys appear in this sector

ey .. ',_.4 i ! . . ‘

m&mmmmhwmdwsum
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37.

- 39.

. . . : . . '.

An improvement in agriculture’s terms of trade with industry
{a)
(b}

(e}

Hd)

‘machinery 1; 0 The value adde_d ¢
{a)
(b)

(c)

(d)

During the last two docadﬁl

. occurs when industrial prices are prevented from ﬁlﬁng- _

can ‘occur when there is a balance between investment and saving

.

can produce a rise in the general price level |

is the result of substantial cost pressures in industjy_ L

Rs 450

.

Rs 600

Re 750 = i

None of the above . a

..rate of
{8) 15% per axmum
(b} 2:5% per annun'\: |
" {c) 3-_53{. per a.nnum
(d) 45%per am'mm
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40. ‘The famous book titled, Poverty and Un-British Rule in India was authored by
[a). W. C. Bornnerjea
{b) Dadabhai Naoroji

(& R C.Dutt

" (@ Lela Lejpat Rai

.41, An outwarr.l ahift oc!‘ the production posa:blhty fronhcr may be caused by

[:1) anmmeindmnd

®) moresmmment spmdins
o . |
nand m. If we want to disprove the claxm
msm:hthat P(n,m)xs true’, then we
i




1.

LetX Y, Z be statersents.. &ppoaemimowthatmeﬂan and-tlzut'Y'hnﬁliesZ."
_Hmﬂaolmowthatl’iafalsewecanconcludethat o ' : "

@

®

)

«

'itwomdsufﬁeemshowtm

(@)

M) -

©
(d)

_X-iatru'e

X is false

2 is false

some Z are X, and some WaréY‘;‘-:'

Z is trﬁe

some X are Z; and some Y are W

'aHXal;eZ,‘andallYmW-

anmx,’andaliWuéY



48, If the absolute value of price elasticity of demand for good X ia greater than one, then we
must have

{a) if price increases by 1%, then the quantity demanded will decrease by less
than 1%

(b} if price decreases by 1%, then the quantity demanded will increase by less
than 1% -

(/. (€), if price of X increases, then the expenditure on the good will increase
(d) None of the above

49, Cont:ider.th'e folloﬁr_ing : !

- | Option [ : Yb_u receive Rs 112 after. one year.

: S Option 1 ; You redeive Rs 55 after nine months and Rs 56 after one year.
“ <t Given that the market rate of interest is 12% per annum, it follows that

1o (o)  Option I js better than Option II

. ) _‘ (b}., Ophonnisbetterthant)phonl

., (& Option] and Option T are oqmny good

- (di Nb wncludm eﬁn be dmwnbﬁ‘the bams of the given mformatnon

' Buppoga Rs 1.00,000 h depoaited in“‘an acoorunt for 3 years at 11% per annum,

(aj Rs 1 33,009

Xﬁo-ﬁ, lfthepncc of X rises by 2-8%,
e e K7




52.

53.

 The mean and variance of X are’

A bm: contains red and green balla. The number of green balls is - thc number of .

red balls. If a ball is taken randomly from the box, what is the probabﬂlty that the ball
is red?

@ 2
(O
© 2

(d) None of the above

X * Probability )

o 024
S 038

2 020

3 013

4 005

@ 22
b 2 14142
(c) * 1:37; 12731

{d) None of the above

cs.nnot begin with 0. Howmup‘ d
code in this oounh'y's’

() 10° S
{) 900000 |

(@ None of the above




§55. Two dice are rolled. We deﬁne events El, E2, E3 and E4 as follows :
El :Gettmgasumoqualtolo )
E2 : Getting a double
E3 : Getting a sum less than 4
E4 ; Gettmg a sum less ‘than 7
Determine which statement is true \ -
@ Events E1 and E2 are mutually exclusive
). Evenbs E3 a.nd E4 are- mutually exclusive _
’ (¢} Events E2 and E3 are mutually exclusm | - ‘
(@ Brents B1 and B4 are mutually exciusive

- 56, Limitof 1tl.aJ\:li.ppm:m:heuf)iaequalto

"(a)

*

8 1 is equal to

= 3x and g’{x) =2x2

, then




61.

Income distribution of most countries follows
(s) linear pattern

.(.b) 0,< xy<2x

-_A number of the form
100.

The digit y is
@ s
@
«

Equation x3 +1nx+1=0 has two distinct real solutions, if

® m=3
(s) m=4
¢ m=S5
@) None of the above

(b) normal distribution
(é) aizgusoiﬁal curve - '
(ci) log-normal distribution

(ll m2 > n?
() mn>0
(©) mh;—ﬁn.

{d) None' of the. above

neoesurily true? -
(0 x<xmy/2<y

{c) X<XYy<2
(dl xy<y

when divided by

m -~




64. The graphs of the {wo equatibns'y"ﬁ a&‘z +bx+¢ and y=Ax? + B+ C such thit a
and A have different signs and that the quantities b% ~4ac and B2 ~4AC are both

negatwe

(a) inters.ect at two points

.(b)' ‘intersect at one point

(c} do not intersect
(cl) None of the above

‘I'hreesofuﬂonsoftheequatlonf(x) 0 are -2, 0 and 3. Therefore, thethreesolutwns
'.oftheequa'donf(x 2)-0&.:1:

(a)1 ""‘"4 92811(1 1

® -2, omts

wh
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69 Four dice are thrown Whax is the pmbability that the same number appean on uch
of them? '

(a)

(b}

©

70. Iff(x)=-—e -2, thenthe rangeoff is g:venltgyl

@
)
(©

@

'71. The mean of a dg.ta-s'eé is equal
add 5 to cach data value; the:'_;

_mea.n-ls, atanda.rdd

)
)
(o)
(d)

72.  The sum’

(a)
{b)

{d)

(a0

e

@

'h2+a

_'mean = 10, standard v

l *
36 .

18

None of the above

{~o -2

{(~os + )

=+

mean = lﬁ,suuukudl
mean =15, standard

5053
5050
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74. How many of the 4-digit numbemcan be formed, ifno digitw used more thmonce
which are divis 'ble by 5?7

(8) 1008

b) 952
S (9 8% .
" (@ None of the above

QuestionNoa THSaretobcansweredonthebasmofthefoﬂowing §

o mfouwmgmmemmmwnalmtofpmdummh(n-;zm IQunitofoutputby
RN eompetiﬁve ﬁrm I

ST Ouput Mafyma!Cost




.

@ 10

\almaﬁveiawﬂmmthcm”

S = TEERE AT A TR T T P A

menvemgecostofpmdudnggunitsofoutput(correctuptotwodeexmalplwu)m
(@) 366
(b) 399
() 091
(@ N_one of the above

w7

(@:1) None of the above

the latter.)

Then the aet of F
™ ey
. .{x.z}




81, A circle of area A passes through the points .(8, 0) and {0, 6). Then we must have

@ A<257

b Az251

) A=100x

(d}’ None of the above
. Fot what

only?

va_l_ﬁe{a.) of the parameter m does the equation ~2x2 + mx = 2 have one solution

. m&fntam with the Reserve Bank of India as
anlt time deposits

inference




(a) thedeﬁdtmtheprunaryaectorofﬂmemnomy
(b) the deficit in the revenue account of the budget -
(‘_c) thedeﬁdtinthecapﬁalaeeountofﬂubudget

@) the fiscal deficit less the interest outgo in the budget

86. .'Themmeymulhpherinmeoonomyinmwkh

. -

(&) mmmmmﬁo
(b) inquaehaﬁtntutorqumditym
{0} increase in banking habit of the

- () ‘increase in. the populatxon ofth_e'-

mncﬁon,whichisgtvenby
Supply = 0 if price < 10
=p- 1011‘prlce>10
Mbwuhutheumedemmq
Dunand-mfpncezzo—iﬂ'




88. Let the market equilibrium price be denoted by p*. Then

‘(a} 10<p*<l]
(b) 14<p*<15
(© 16<p* <17

(@ None of the above
89, LetA betheact [f(xi[_Oixé 1} What does it mean if we say that yis not an element

of A?

(o) i) is siot n clement dx

L
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Question Nos. 91 and 92 are to be answered on the basis, of the following: mformahon ;o N -

One of A, B, Cand D has cheated in the examination with the help of another one of them
' Herc are the statements that these individuals made to the investigator.

‘A : If Bis guilty of some wrong-doing, then C must be innocent. , o L '
B If A is innocent, then C must be guilty. B Ao e

: If B cheated in the examination, then D must have had DOW‘ A
wmng-domg '

:D I am innocent.

themmainingtwoareh‘ue.

91. The person who chcated in the exanﬂnation was
@ A - ® B
(d) D

RS n“..

Ry DV

© c

_ BothBandChadclmedTestm
- D had cleared Test IV,

Theawardwenttotheuﬂdidﬂhe_’
The awardwasgwento P

@ A

9 ¢




A firm has a production function q=4xé, where-q and x denote the quantiﬁcs of
output and input respectively. If the price of the output is Rs ‘90 per unit and the price’
of the input is Rs 20 per unit, the firm can earn a maximum profit of

{a) Rs 1,620
(b) Rs 3,600

(c) Rs 808

{d) None of the above

»

The shért-run supply curve. of a oompetltlve firm is given by
(a} the marginal costcumoftheﬁnn _
{b) _the ma.rgma.l eost curve ahove the averagc cost curve

‘ fc) the ma.rginal eoat curve nbove the AVerage variable cost curve
(d).: theupward‘slopinspm'toftlnmrgmaloostcurve

" In situationl Price of good X ia i:l;:aeprlee of good Y; and the consumer spends

od X and 20 units of good Y, In situation 11 :
in"situation I, price of good Y is twice

: ,20 units of good Y in situation i
X thqt he can purchase in sltuanon 1l is




QueaﬁonNoa.”—lDOamtobeamwuedonﬂaebasisofﬂaefoﬂowinginformauon

Five teachers R, S, T, U V teach five different subjects— Mathem;tica Hisbory, $odoloy
Economics, Literature. Eachteacherteachenoneeaweekonaﬁxedweekdaymondw
Friday); andeachonebeachesonadiﬂ‘erentdayﬁ'omothem. o

VdoeanottmchEcononﬂcs'anddoes nottcachon'h.wsdays
S teaches Hismry and does notteachonaMondnyoraFﬂday
TheMathmﬁcsteacherteachesonThuradaya
,Tdoesnotueachn:conomics ‘and teaches on Wednesdays.
The Literature teacher, who is not U, teacheaonmdm'
R teaches on Mondays. '

98. ' On which day does S teach?
@ Tuesday |
) Thursday

@ Priday
ém Nane of the above

100.
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.1._

4.

- (a) equal tol

(). with free trade, Canada wﬂ.l o

@) with free trade; the US.will not

s iy

' ' : L : o
' . . . o

In a closed economy, the balanced budget multiplier is

(b} “less than 1

© more. than 1

‘ {d) dependent on the rnarglnal pmpcnsﬂ:y to consume in" th.e mﬁ

Stagflation describes a situation of
(@) rising prices and rising output
()
l0)_

8

{b) the opportunity cost of

lnfgnt ihdustry protecﬂoniu ;Y

" {al the policy of mm:g'

pollutlon
the pohcy of protecﬁng a :
)
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.6.

For the countries in the European Union that share a8 common currency, the euro,

(a)

)

(c)

@

it is impossible to have different real exchange rates from one another

it is possifolc to have real exchange rates that are different from one another

the nominal and real exchang.t: rates will aiways vary according to fiscal pohcy

- the nominal and real exchange rates will always vary according to cépital flows

The current aceount balanoe in an open economy

'(a)'

{b)

(c}

Asmﬂi@tisconmdaedmacnﬁmﬁeofapublicgood

_ always includeg the balancc on investment income

never mcludes the balance ‘on invcstmcnt inoome

: includes thc balancc on inmlment income and flows of investment

mcludea ﬂows qf mmtment bwt not the balance on mvcstmcnt income




CE e |

10, 'I‘he ‘Gold Standard’ refers to an international cun'_cncy. regime "ur_lder which.

]
|

{a) only gold was used in international transactions
(b} only gold was used as money in domestic transactions

{c) countries officially linked their monéy supply to & spec_ii_ﬂc '

(d) countries officially linked the value of their money {0 &2

-

sl

L

RETRERS the- price of the
@ 6
® 7
(c} 8

@ 9




12. If the price of the commodity is 19, then the prdﬁt-’maﬁmiking_ level of outpuf ia
o . .
. b 7
¢ 8
@ 9
13. utnmdmowﬂupmﬂtofmeﬁmwmm price of the output is 20 and let 7(19)

denote the pmﬁt of the firm whm the pricc of the output is 19 Which of the f’o!lowing is
correct?

@ wo=ma=s )
(c}. mnn[lg) o

R e

m mq_ﬁs,l

H
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16. _che pﬂce ofthe commodxtyis 17, then attheproﬁt—ma:dmizinglevclofoutputtheﬁrm
{a) incurs a loss of 5 .

(b) - incurs a loss of 15
() makes a profit of 7
(d), None of the _ﬁbove

17. If good x-and good y sire perfect substitutes, then the indiﬁereme e o
{a) ' atrictly convex to the ongm
(b) stnctly ooncave to the orlgin
{c) stra.ight lines .
{d) L-shaped

18,

pmc_luces any posmve amount, it r_nus,
monopoly price? ' '

@ 15
b 10

c} 5
(@ T

Supposc a consumer wants to oonsum\e tw =
discrete units. Let the prices of the goqﬁll  Ray

£

@ 0
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20.

L _. 21.

[ T s SR P B PTG E -

Suppose the price of both commaodities fall by 10 paisa and money income increases by
10 paisa. If the preference of the congumer over the two goods have not changed, then

{a) at the optimum, the consumer would consume more of both commodities

.

(b} at the optimum, the consumer would consume more of commod:ty 1 and less of
- commodity 2 : :

{9 at the optimum, the consu{ner would consume less of commodlty 1 and more of
commodity ‘2

(dy the consumer’s optimal bundle does not 'chahge

*

Sahsh is very ¢ conscious about the food he eats. He only eats rotis and dal; a cup of dal
ooata "Rs 2 while each roti costs Re 1 and Satish decides to spend only Rs 13 per day on
food, Also he decides to consume exactly 5500 calories a day; he has been told that

- each roti has 1000 caloriea ‘while each cup of dal has 500 caiories. Hc spends his entire
_ tnongy allopated on foods. Then

I_(_a}___. _he eonsumes 3 mas and 5 cups of dal pcr day




26.

27.

"{a) Arithmetic Mean < Geometric ‘M

A firm has a prodiiction function g = A- K°‘5L1 8, where Ais a positive constant. Such a .
pmducﬁon function exhibits. S o L o S

Ja) decreasing returns to scale and dimimshing marg;na,l pmduct for factor K
{b) incr_'eas__ing returns to scale and diminishing marginal product 'for factorl
CH

(d}

(a)
®)
(c)
)

If X, X5, - X, are non-negative. reu{

b} | . Geometric Mean s'Arithm_e_ﬁe
(c} Arithmetic Mean =
(d) There is no fixed relati

(@ xx:> b2 T
(B) xc < b?

{c} xc = 52

- {d) C_anhdt say an

@ flg<o0
b f>0

@S> 00
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29. Given two numbers x = (3Y7 +4VY7)? and y = 343, which of the following must be ﬁue?
@ x>y '
® y>x
{d x=y
(d) x=y/2

30. Becna’s average score after 8 class tests is 84, In her first 7 class tests, Beena's average
' score was 85 In hcr last class test, Beena has scored

@) 82 .
. (b) . 87
| N

(d) N;:pﬁe of t.he_- above

| 31, The functlon f(xj ulogmx is continuous over thc mterval

L. @ ta a),whma:vo
) (-°=:+=°)

e tea, Whem4>0

‘ (0, 1)

R
L

”J;to mctly 4 of the Y;s, thcn n is




'“-

35.

37.

fb) 27

@ i

Suppose interest is compounded half-yearly at the rate of 10% per annum. I the S
prcsentvalueofanassetwhichretumaaﬁxedsmnofRsXafteroneyca:andnoﬂﬂng
thcrea.ﬁcr is Rs 50,000, then X is equal to _ .

.

&) Re'S4; 375 '
) Rs 55,000
(9 Rs 55,125
(d) Rs 55,2-5_0

f(x)fx“ﬂth rcapﬁct to x is
@ 05

® o

@ 05

@ 12
{c) 63
@ 72

A function is selected at random figrg
itself. The probability that the fung

@) —

(b)

(©




38. A fair die has given the number 6 on five consecutive throws, What is the pmbabiﬁfy
_ that the next throw will also give the number 67

' (8 1/30
b} 1/6
! © 5/6 |
:_ | (@) None of the aba,,_e

9.  The number 0-999999... is

@ mgﬂy equal to 1
) elightly less than 1
O sty mor then 1
(d) .. bm and 0999

!

9
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The next four questions 42-48. are based on the followmg

Conslder a country in which’ there are four differéent types of people Red Blue, Green and
Yellow. All Reds earn the same income. The same is true about the Blues, Greens and YM’
However the Red income, the Blue income, the Green income and Yellow income ot
different from each other. A distribution of income of the country (D;} specifies thf e
" Blue intome, Green income and Yellow income and also the number of Reds, Blues '
Yellows.. The following table gives the posaible income distributions for the co

42,

true?

B) G5 <G =G,=

© q>%>%>@>%;§
43,

is true?
(a)
(b)

(c)
@
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44. Letp, denote the median for the income dmtributwn i. Which of the follomng is true?
(8) Ky <hy =Ry =Mg <pg <ug
b) Ky <py =l =ng =hg <Hy
(c) The mean 'is ec::lual to fhe medjan for each’ of the given distributions
({d) The mean is diﬂ_‘crent' from the mechan for each of the g;l{rcn distributions
45. Consider the five income distributions D, Dy, Dy, D,, Dg. Which of the following is
true? _ _ . _ _
. {a} -There is no Pareto-optimal distribution
v .(b) All disi&ibutions are Paretoéoptimal |
N = R Dy is the only Parcto-optimal distribution
- (d) JJ!1 and Da are the only Pareto-optlmal d:stnbutlons

 The next three questions 4648 arc bastd on the following :
: ) Ms. A wishea to renovatc her cottage She hires the services of a plumber, a carpenter, a
. -painter, an electrician énd an interior decorator. The renovation is to be completed in-a period of

;- one. worlung week, ie., Monday to- F‘»riday Every worker will be taking one complete day to do
.hisjob Ms.g!wﬂlaﬁuwjuatoncpersqnmoworkper day.

Ill‘he pamtercan do his workonly after the plumber and the carpenter have completed their jobs.
- The interior. deeorawr ‘has to eomplete hia job beforc that of the electrician. The éarpenter
- mmot wvork o:t Nondny or ‘mbsday -

i }".

In me the padntu worl:s on ‘l"lmmday whtch among the following alternatives is

; rk on consecutive days

o ‘ ‘the electrician has to work on the




B1.

| (b} Order allyourcggs from the second boy

(8 x>y _
o xsy

" (B) a stock variable .

SO e e e T S

v . N

Whicharrangementamongthefollowingmpos:ible? e E . _
,(a)._'l‘hepamterwillworkoandnesdayandtheplmnberonTh““,y .

(5)_ The carpénter will work on Tuesday and the painter on Friday

(c} The pmntcrmllworkonMondayandthecarpcntcrmmumday

(d) The carpenter will work on Wedneaday and the plumber on ’

There are two eggdeﬁfmyboysyoucahofdér.eggsﬁ'om The p

fallhlgmdbrealdngaﬂtheeggslslandthcprobabﬂityofﬂm
5 ,'w

hreajnngalltheeggsis Howwouladyoudlatrlbum
mimmizeexpectedtotallossofcggeﬁ’

{a) Order all your eggs from the first boy

()

@ 2
{b) log3
(©) log 4
i) Nonél of the above

ot
L RN

Ifx< y+e, for a!l e>0 the.n '.':;

(c) x$0>'_y_
d x<O0<y

The rate of interest is . :
(a) a flow variaﬁle

_((;) 'themt:oofaﬂowm{ﬁbh

_(d} - the ratio of a stock varhbh
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53. The fiseal deficit is

{a) a flow vai'iable
(b) a stock variable

(¢} the ratio of a flow variable to a stock variable | L

@ - the'ratio of a stock variable to a flow variable .

. 84, If ina given year a count:ys ‘GDP at constant prices is 1000 currency units and the
o value of its: impliclt GDP deflator.for that year is 1 10, the value of the country’s GDP at
currcnt pmes (m »nts cum:ncy unjts] is

@ 890 IR .

¥

T, '4

»trenaact:ons vclocuy and the income veloclty of
i-$ and the money value of total transactions is
iﬁcm:nc. If the quantity of money in circulation is

Lis thc present dlscounted value of

\.e

[




- 87.

: 'l‘he next four questions 58-61 are based on the folldwing_ X e ﬁ&
Suppose in equilnbrium aggregatc inoomc (in units of money' per e

(i}

| Suppose a plant can be used to producc ina day x units of product 1 and Y umts of _

® s
lc} -6

@ 64 /

| '(a)
()

{b)
e}

produict 2 where y = {32 - 5x) /(10 - x),where32/52x20Iffheunitpnceofproductl

* is twice the unit price of product 2, then to maxirnize total revenue the number of units .
‘of x thc plant should be uscd to producc in a day is

(al_‘*'_

If Y, =0, then C= 500

(_°"‘
()

a)

(d_)
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60. Ifinstead of 750 units of money the government makes annual transfer payments equal
to 10% of Y, then the vatue of the investment multiplier will :

{a) decrease by less than unity
{b) decrease by more than unity.
(c) increase By less than unity

(d} increase by more than unity

61, If mstead of 750 unita of money the govvemmeht makes annual transfer payments equal
- to 10% of Y, then the othbnum value of Y will

@ decreaae by loas than 1000
(b} dcr:reaae by more thnn 1000
R (© Jnmm by loss. ﬂm 1000 -

'(d) inmasebymoreﬂmn moo

T&. tudent has tnfttn SIW . Ph.ilosuphy, B'Lologr Eeonomles, Mathematics and Literature.
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63. [If the student studies Philosophy, Biologr and Ebonomic:a in the ﬂmtweek which ot‘the
follomng combinations must be studied in'the third week? . L o .

(@) - Philoaophy, Biology and Economics

b} Philosophy, Biology and Mathematics

(c)':' Philosophy, Economics a;id.Maﬂicrnatica "

(d) .- Econdmics, Mathematics and Literatare .

64. If the student studies Philosophy, Literature and Mathematics in the firét W

- of the followmg combinations must be studied in the elcventh wu.-k?

()’ Philogophy, Literature and Mathematics | '
kb) Philosophy, Biology and Mathematics ‘
(c}’ Philosophy, Economics and Mathematics _
(@) Economics, Mathemahcs and.l.iterature e

65, If x, y and z are consecutive negatnre mtegera aﬂiﬂ' % )
_mnatbeapoattiveoddinteger? ' s

@ xyz
®) -dy-3.
) x-yz

allYamZ andallex ‘
€} all X are Z, andallYamW_‘”a_g.-
- (dy aﬂ_Zarc_X,andallYm:;“i

67. LetXandYbestatcmcn“. ﬁ%ﬁ
to- show that o
(a) X is false
(b} Y is false e
() X is true, bUtYié-Mé

{d} Y is true, butth

il




U

68,

= LA 1 D I e LN . ) B oLT R T Mo A oo e - -
R - il S e i e s i = e ALLL UL

Let X, Y and z be statements. Suppose we know that X unphcs Y, and that Z implies X.
We also know that Y is false. We can infer that

{a) Xis false, and Z is true

(b) X is true, and Z is false

(¢ both X and Z are tﬁ:e

(d) both X and Z are false

Let X and Y be statements. Which of the following strategies is not a valid way to show
- that *X implics Y7

(a). ShowthatsomcstatcmenteZhnpliesY andthcn show thatXimpllcsZ

(b) Showthateitheansfulae,orYtstme or both

(c) Auume that X ia falag und Y ia true, and deduce a contradiction

(d} Aasume that X is trua, anﬂ ‘Y h falge, and deduce a contradiction

Let.P{n, m)beapmpqt;‘nbmttwoﬂm n and m. If we want to prove that“forcvcry
im:eger n. ghere_m : that P(n,m) is true”, thcn we should do the

;'l'hennhcwthatp(n,m)lsuue'

; then we can also conclude that

Eh




74.

7.

.(a} Y is true, and Z is false

' (b) Y is false, and Z is true
.(d}' None of _thc above

~The United States is a major exporter of

“{d} corn

: Autarky means that

)

LctX Yand Z beshatements Supposeweknow that X impliesY andthatYnnplieaz
lfwealsoknowthat.’hsfalse,.wecanmfcrthat -

() both Y and Z are false.

(a) diamond
(b) bauxite

() coffee

The terms of trade are
(a) the countnes pmduct.lon possibihhes
(bl the autarky equjlibrium
©
@) _thc_value of exports

(a) & country's coasﬁmpﬁon'

(c) equilibrium has been
@

'(‘).

- -(p) Dependa on expecta.ﬂqnl _

(€} Does not depend on @
(d) Does not depend on ¢
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77. I the saving propensity is 14% and the incremental capital output ratio is 4, and the
population rate of growth is 3% there is constant returns to scale and no technical
progress

(a) warranted rate of growth is greater than me..ntltthr'al rate of growth
(b) -warranted rate of growth is less than the natural rate of growth .
(c) thc cconomy will always grow at 3% ate of growth

(d) - the economy will always grow at more than 3% rate of growth

‘78. There are four bus routes between A and B and three bus routes between B and C
A man can travel round trip in number of ways by bus from A to Cvia B. If he doea not
want touse abus route more than once, in howmanyways can he make round tnp?

@ 72

b) 144
| { 14
| d 19

g, 'Phe Econmm Nobel Prize for the year 2009 was awarded to
| (al ElhotOs&omandOHmWﬂlinmson_ ‘

| (c) Jolm Naah -
{d) Rnbat Aumnnh and ‘l'im Schclling
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{c) The GDP oontnbution of the pnmary sector of the Indlan economy is larger than" :

{a} _Rs 40_

fb} stock variable with a value 45 yom

o) flow variablc thh a value of Rl' ‘}'5=

d)

{a) 1/[1—a(1—t)+m} 50/23

| (d) 1/[14a+t+.m]=2_'_ TALEE

Whu::h one of the statcments given below is correct for the ycar 2000—01?

-(a;)_ The primary sector of the Indian economy is 50% of the GDP . Ly

(b) The tcrtiary sector of the- Ind:an cconomy is 50% of the GDP ' o i

that of the soconda.ry sector

(d} ‘The GDP contribution of the secondary sector of the Indian ooonomyf!i:_ ._ .
- that of the tertiary sector

in | the process 1s
(») Rs 50

@ Rs 100

(@ Rs 10

(a) stock variable with a value of Rs: 45 )
_ 1,»1“:_\ gﬁ‘

m=0. ]. The short-run mvcs

) 1/[-f-mi1- t)H=25/11
© 1/l-al-§-m]=50/3
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86. The ‘Sub-prime Lending’ crisis was originated in

(a) India
(b) USA ‘
(€ UK
(d) Chine .
! _
|
. .87, In the following statemeénts, ‘investment’ i8 meant to be investment from a .

macroeoonomic pomt of view, The following transactions (i), (ii} and {iii) have takcn place
in the economy

V.o o +

) (i} Your family has talgen out a mortgage from a bank and purchascd a new house
withtheloanadvanoedboyourfamﬂybythebank.

- (i) '_-'xou_tiévé’ used yo‘_uk_-;agig“xy -_t_o_f-buy share of thc Steel Authority of India Ltd.

P

posmvc investment, transaction in
186 'on in (iif} represents an act of

_pocihvc investment, transaction in
trmsactlon in {m) represents an act of -
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'_(a) -d!d=lf.y . . '. ' _:. y P
© du=1y
@ '.Th?fe is no inverse function
. around -
{b) 60 percent

{d) 80 percent

{d} United States

The sum of the first n odd integers is

o a2
@ n

@ 4n

Which of the following will be an inverse function of f(x) = ¥7¥ ° /¥

) ou =y’

The share of the primary sector in the'!

(a) - 50 percent

'(ci "~ 70 percent
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{a}
(b)
(<)

(d)

Market capitalization in’ the Bomba.y Stock Exchangc (BSE) rose by 100 perccnt ina

the late 18th century
the beginning of the 19th century

the middle of the 19th century

- the turn of the 20th century

single year. This means that

(a)
)

e

the'se_naex ro8e by 100 percent during that year-

the value of -shﬁ_ﬁes traded at the BSE over the year increased by 100 percent when

compared with the previous year

the valuc of all outstanding shares of companies hstcd at the BSE rose by

; ,_100 percent

(d)

A

The beginning of modern industry in India occurred in

mapn

Bl U TR T -

-the prlcea of evmy share Iisted at the BSE rose by 100 percent

’

Mmhmnddtobehndepmdmtxf

_' @
| ”_"___(b)
- Id)

Prob(A and B}-Pmb(A) Fmblh
ProhiA md -@.‘ th(mmm
mwa-muA}»Prob(a ' \ |

?NB(AIH W M&*Wma

[0 LR R



o cifortlcss act of lending—the temptation to overdo & quite
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Read the followi.ng passage and answer the questions 96—100

“In the beginmng money was a commodity like any other, save that its physlcal characteristms
~ allowed of its being divided into parts of varying but specific weight, and it had high enough

worth in small enough bulk so that it could be readily carried around. Thus it served as an- .
' mtermediate step in exchange, eliminating the inherent awlkwardness of bartér, And it was &
convenient way of holding wealth—a storehouse of value. S

But i m major measure the sepamte 1dent1ty of moncy, 1ts personality, was. diaoovard wuzh

were based '!'his howcver was entirely safe and accepta.blc for .80 |
depositors, borrowers, noteholders—did not come at the same time _
there were fear, panic or spreading rumour and unease about the co!
" the bank—all by no means ncghglble poamb:ht:cs—this woukl not:

- Given the profits possible from this manufacture of.

creation of the lesser banks, which they did in an PE;
to the smaller banks their notes for payments in mphlj. o
reserves agamst deposits.”

(John Kenneth Galbraith, A History of Ecor

96 Galbra:th a.rgucs that
(8) -

o
{©)
@
97.
(a)

(e} -
()




Sl R S . Lo | e T T L L A B b - L L N TR il o L S L I L N R |

98, Central banks exist because

(a) banks earn proﬁm—m the t'orm of a retum in intcrest—ﬁ‘om an efforﬂess act of
lending - : .

(b) the funds loaned out can ‘be ‘used for mvestment necessary or fnvolous
consumpt:on or the needa ot' the State

(cj all banks want the exclusive power to issue notes

o (d)‘ it is neceseary to regulate the lendmg and money creation of lesser banks, gwen
L the temptation to overdo lendmg

) e y . . - . . .

99. _ Minimuin lcwels of merm agmnst deposits

}

(q) iaamhihatmonqmmcessaﬂly:mpomonanbanks o ' )

!




